King Abdul Aziz University Faculty of Sciences Mathematics Department
Math 110 Second Test Fall 2012 (30 Marks) Time 90 m
Student Name: Student Number: {oD
1)log,2-log,64~log,32=
4] -2 B]12 wel-10 D] 0
2} eﬂnz -
Z2 [E]7 4 JET2s

3) If In(x +5)=3 ,then x =

4] e’ +5 BT -5 clé’ D] 3
. %x5eTx B
4) im————m——=
)x—>1x2+x 2
\@g @ '3‘ 0 @ does not exist

5) lim(2x* -3x*+2)=
x—2
G glo  [Bl-6

6) 1t im0 % 5 then limf (x)=
x +1 x>

x—>2

8 12 2 BT 11
7) Find the domain of the functionf (x )= 5*.
A](~0,0) [—1 1] [€1(0,) \@R = (—oo,oo)
8) Find the range of the functlon f(x)=
) (.0) B[ FHom  DIR=(o)
CoSX
9) sinx -
secx cscx !V@/ cotx [D]tanx
10) If 9% =81 ,then x =
-1 I o PR

11) Find the inverse of the function / (x)———{/;4T .
i T Ay BT
12) If 4x —9<f (x)<x +3,then hmé{f (x)=
[4] does not exist vgﬁ c]1 0




6
1 = \!g 1 2
A | s o cl— ———
D\/i \vgz “73 5
x+7 x ==
4) Iff(x)= v then lim f(x)=
2x +2 x &=’ x—(-2)
47 512 3 v@/ 2
. o x*4+3x -5
15) lim +7 almEa
x—0 X —
5 5 .
Al - 5 ~ 5 5 [D] does not exist

16) If f (x)=cosx ,then D, =

(o-1) VB[ R=(=00) EI[-L]  DI(-1]

17) hml ~2|
x—2 x —2 )
[4] does not exist 0 cl1 s@ ~1
18) lim 5x° +2x -3
x—>°°4x +6x -7
5 v
@/Z does not exist e D10

19) If f (x)=sinx ,then R, =

@(-10] B (1) B R=(-=0x) UBI-L]]

67
20) —5"“ rad =
@160 [B] 252° 288" [D]324°
1) 540° =
%zrad. 1B] E;Zrad. 7; rad. u@/ 37 rad.

22) The inverse of the function /* = {(—4, 3),(=2,1),(3,4),(5,-2), (1,7)} is .
£ ={3,-4),(,-2).(4.3),(-2,5),(7.D}
f 7 ={(-4.3),1,-2),(4,3),(-2.5),(7.D}
f 7 ={(-4,3),(-2.1,(4,3),(-2,5),(7.)}
D] f ™ ={(-2.1,3,4),(5,-2),(L.7),(-4.3)}




lim — =
3 7 2 T
14]2 B = V(| = D)0
2 3
fim ™ =3
\ f‘m—",, —— T
24) e
1 < 1
10 Ho @ Mg
L x’—4x?
25y I
26) Find the inverse of the function f (x )= (2x +5),x €[0,).
—
Nx +5 y 7Jx -5 % =5
5 Bl(2x+57 Ul —; Dl
27) [ YX +49 -7
;c—>0 X
1 1
- B4 14
28) If af:tan“‘[l), then cosa =
2
4 2 1 /5
\;@— J5 Cl— D] >
2 Lom

29) Find the domain of the function f (x ) =sin"'(3x —35).

ot w4 mea mfis

30) If sm(x):—zg—, and o<x<-’25,then cos(x ) =

N L] 3
7—5—- @T @]—\g




